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adult-02, Saccade # = 27, Duration = 33.333 msec
adult-4596407422096344416, Residual Per s.ampla 012

T T T T

““-x__'_ e ———— - g

B.3667 8.37 83731 & 3757 83833 B 585‘!’ 3.35 8.3933

8. 3833-

. i - . § ;
k_’ _ - — -
A1.5 il

adult-02, Saccade # = 46, Duration = 36.667 msec
adult-4596407422096344416, Residual Per Sample = 0.22

e Horizontal Position] -

13.57 13.5733 13.5767 13.58 13.5833 13.5867

13.59

13.5933 13.5967 13.6 13.6033 13.6067

' —&— Vertical Position

-10.5 L L L L L S S
B.38 83633  B.36ET B8.37 B3I7T31  B8.3767 838 B8.3833%  B.ZBET 8.39

adult-04, Saccade # = 01, Duration = 36.667 msec
adult-4597871955335632108, Residual Per Sample = 0.24
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adult-04, Saccade # = 03, Duration = 40.000 msec
adult-4597871955335632108, Residual Per Sample = 0.27
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adult-04, Saccade # = 02, Duration = 66.667 msec
adult-4597871955335632108, Residual Per Sample = 0.29
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adult-04, Saccade # = 04, Duration = 66.667 msec
adult-4597871955335632108, Residual Per Sample 0.36
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adult-04, Saccade # = 05, Duration = 46.667 msec
adult-4597871955335622108, Residual Per Sample = 0.26
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adult-04, Saccade # = 07, Duration = 60.000 msec
adult-4597871955335632108, Residual Per Sample = 0.29
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adult-04, Saccade # = 09, Duration = 36.667 msec
adult-4597871955335632108, Residual Per Sample = 0.25
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adult-04, Saccade # = 06, Duration = 43.334 msec
adult-459T871955335632108, Residual Per Sample = 0.28
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adult-04, Saccade # = 08, Duration = 26.666 msec
adult-4597871955335632108, Residual Per Sample = 0.26
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adult-04, Saccade # =10, Duration = 50.000 msec
adult-4597871955335632108, Residual Per Sample = 0.27
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adult-04, Saccade # = 12, Duration = 40.000 msec

adult-4597871955335632108, Residual Per Sample = 0.28
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adult-04, Saccade # = 14, Duration = 40.000 msec
adult-4597871955335632108, Residual Per Sample = 0.30
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adult-04, Saccade # = 16, Duration = 43.334 msec
adult-4597871955335632108, Residual Per Sample = 0.21
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adult-04, Saccade # = 13, Duration = 33.333 msec
adult-4597871955335632108, Residual Per Sample = 0.21
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adult-04, Saccade # = 15, Duration = 30.000 msec
adult-4597871955335632108, Residual Per Sample = 0.11
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adult-04, Saccade # =17, Duration = 43.334 msec
adult-4597871955335632108, Residual Per Sample = 0.33
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adult-04, Saccade # = 18, Duration = 43.334 msec
adult-45978719553356232108, Residual Per Sample = 0.24
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adult-04, Saccade # = 20, Duration = 63.334 msec
adult-4597871955335632108, Residual Per Sample = 0.32
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adult-04, Saccade # = 22, Duration = 46.667 msec
adult-4597871955335632108, Residual Per Sample = 0.28
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adult-04, Saccade # =19, Duration = 46,667 msec
adult-4597871955335632108, Residual Per Sample = 0.31
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adult-04, Saccade # = 21, Duration = 56.666 msec
adult-4597871955335632108, Residual Per Sample = 0.38
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adult-04, Saccade # = 23, Duration = 63.333 msec
adult-4597871955335632108, Residual Per Sample = 0.31
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adult-04, Saccade # = 24, Duration = 43.333 msec adult-04, Saccade # = 25, Duration = 43,334 msec

adult-4597871955335632108, Residual Per Sample = 0.18 adult-459T871955335632108, Residual Per Sample = 0.36
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adult-04, Saccade # = 27, Duration = 40.000 msec adult-04, Saccade # = 28, Duration = 40.000 msec
adult-4597871955335632108, Residual Per Sample = 0.24 adult-4597871955335632108, Residual Per Sample = 0.21
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adult-04, Saccade # = 29, Duration = 36.667 msec adult-04, Saccade # = 30, Duration = 50.000 msec
adult-4597871955335632108, Residual Per Sample = 0.20 adult-4597871955335632108, Residual Per Sample = 0.37
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adult-04, Saccade # = 31, Duration = 63.334 msec
adult-4597871955335632108, Residual Per s.ampla =0.26
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adult-04, Saccade # = 33, Duration = 76.666 msec
adult-4597871955335632108, Residual Per Sample = 0.28
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adult-04, Saccade # = 35, Duration = 23.333 msec
adult-4597871955335632108, Residual Per Sample = 0.19
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adult-04, Saccade # = 32, Duration = 33.333 msec
adult-459T871955335632108, Residual Per Sample = 0.19
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adult-04, Saccade # = 34, Duration =73.333 msec
adult-4597871955335632108, Residual Per Sample = 0.32
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adult-09, Saccade # = 31, Duration = 33.333 msec
adult-4605361523485577463, Residual Per Sample = 0.17
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infant-01, Saccade # = 01, Duration = 76.666 msec
infant-45714054756844 78848, Residual Per Sample = 0.20
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infant-05, Saccade # = 01, Duration = 66.667 msec
infant-4585006770229471040, Residual Per Sample 0.20
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infant-51, Saccade # = 02, Duration = 36.667 msee
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infant-04, Saccade # = 01, Duration = 33.333 msec
infant-4584726578059882688, Residual Per Sample = 0.25
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